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Objective Questions On Physical Quantities and
Measurement in Hindi

(1) 4ifdes AT ~9d chad gidl &
3R ol gl & 3T 3ffer AT hgd 8|
(a)ferm, gfAToT

(byafeToT, fesm

()T,

(d)aT, Tfd

Ans-b

(2)fF=fafea d @ i9-dt T iy i T8 82
(a)Eh"Rf

(b)slel

(c)faemOa

(d)aTT

Ans-a

(3)F=fafad & @ sig-df ges gfer afA 82
(a)SHHT

(byariofig mfa

(c)EFITf

(d)THT




Ans-b

(4)FafaRea ifas afat w= foar fife:
Hotl, 2Tk, ETd, T, dTTHM, Tocd [ a9 Iug<h |
T iy, gfesr AiRA/afREar 82

(a)chaeT ST 3R &1

(b)ehaeT STTaT

(c)3TTAT, IrgqT= 3R &1d

(d)Tec I favg

Ans-b

(5)F=fafad & @ sig-df gas gfer afA 82
(a)aTdl

(b)EeT

(c)ISTT

(d)hrd

Ans-b

(6)AfeiRad H ehi9-dt fr Ficerasi 87
(a)aTT

(b)fazamo=

(c)dcl

(d)3Tadqd

Ans-d

(7)feRea & § -4t gierafr g?
(a)dTel




(8)acT <hT SI HTSch TIT &7
(a)UT&chcd

(b)dTTaet

(c)gcH

(d)dic

Ans-c

(9)aTdl ch SI HTch hl ST had &7
(a)cAd

(b)deR

(c)UTEhel

(d)g=Tt

Ans-c

(10) Mg~ AT SI ATk T §7?

(a)dc

(b)aTe(Watt)

(c)theS(Farad)

(d)gds

Ans-d
(11)dTIHT <hT SI AT h AT 87




(a)chica

(b)Siel

(c)afeag

(d)thIRAGTSC

Ans-a

(12)fEd YTRT AT Q. 373, HI=ch T 87

(a)dc
(b)<TeT
(c)TRIR

(d)dTc

Ans-c

(13)eaf= <hl digdT ehl SI AT ch T 872
OELIEN!

(b)gcd

(c)gcs

(d)eTeT

Ans-a

(14)3SHT T SI AT ch AT 87

(a)Sel

(b)gdcd
(c)dTld

(d)hica

Ans-a




(15)AfeiRad & T chl9-Tl Udh $SAT chl 3ahls Aol &7
(a)fchctichatIxT

(b)hell<t

OIERING

(d)dTe

Ans-d

(16)3 i ohl SI HTch T &7

(a)d1aeT

(b)dTcd

(c)gc

(d)UT&chel

Ans-b

(17)aRUT <kl SI AT gl
(a)Hte= UTd a7 dehs

(byHtex ufd dhe

(c)Ths Ufd Hex

(d)Tche Ufd aif Hiex

Ans-a

(18)ehfeam1(K) qTo 6t 318 2|
(a)gacd

(b)ald

(c)SeTHT

(d)dTgHTq




Ans-d

(19)UTARIe chl AU <hl Schls T 872
(a)GﬁTr

(b)thiS

(c)g=t

(d)deR

Ans-a

(20)URT (PARSEC)ZHTS &-

(a)T9Y

(b)gT T

(c)Sil hl

(d)dTUshH hl

Ans-b

(21)Qch URYh, AR Heiell g7 ATYA kT ATS<h, SIS
%_

(2)3.25 UhIT I

(b)4.25 UhIT Iy

(c)4.50 Tch1T I

(d)3.05 UhIT I

Ans-a

(22)YhIT Y §IdT &-

(a)dg ¥ T gH hIITHR §e<hl BT 8|

(b)Ig I ST T T UhIRT STTdhdH 8T &l




(c)UhIT ERT Uch a9 § Tell 73
(d)gT AT geait eh o= <hl M ol
Ans-c

(23)TeR12T-ay ffaed & gears ¢-
OGIEG

(b3Sl

(24)'RHT I8 AT & STt <h hdl &
(a)TaTT

(b)Sil

(c)3TTaT

CISEIE

Ans-d

(25)3Id & diardT ohl AT B:
(a)=gZH/ TR

(b)=geT

(c)=gZ/ e+

(d)dte /el

Ans-c




You Can Also Read:-
Physical Quantities and Measurement

(26)eThT & &l i SI 3hTS 8
(a)deR/H]2
(b)eTT

(c) 3T
(d)uFra=/+t

Ans-b

(27)fF 7 @ 9 Jahi 8 Y 3ohTS Bl &
(a)TﬁH

(b)eTel

(c)=ge-T/THIRR |

(d)aeR

Ans-d

(28)THY b SehTg AHTIRGd & I shl9-dl A6l 87
(a)fe

(b)ay

(c)UhIRT-ay

(d)der

Ans-c

(29)Ti3ch Sl chi SI §ahls AT &7

(a)dTc

(b)STeT




(c)geA-Hehs
(d)STeT-HehUS

Ans-b

(30)SIeT" Soll 9 T dRg Hafdd g I "URehel’ Hallerd
%_

(a)adllq

(b)HATAT

(c)d-dd

(d)RTgelT

(e)3UY<H | T hIg ol
Ans-a

(31)ehTd ohT AT &-

(a)dc

(b)siel
(c)dTd

(d)sSTed

Ans-b

(32)3cicral- died gahls gidl 8-
(a)3elcral- ch SITART hl
(b)3sit hl

(c)favaT=d= <ht

(d)<1f<h bt

Ans-b




(33)' ST’ hTg hl UANT TchdT SITdT &-
(a)B1X <hl Alcrg ATg= &
(b)gel <hl |19+ H
(c)3TISTIE Ud <hl AYers Amg= &
(d)*TR o A19- |

Ans-c

(34)RfSTrdr 6l 3arTs

(a)ThHT

Ans-c

(35)ft.5f1. g9, ToTrelt # {aT=TdT uTich 6 3T gid) @:
()T (THT.)2

(b)STT YhUus (THT.)2

()3T (THY.)2

(d)ETST (THT.)2

Ans-d

(36)HTTaTe feISTell oh AT <hi Sehls & STi-
(a)IUTHT <hT SITdT &

(b)ITTId hl STl &

(c)Id <hl ST %

(d)Zi AR | g gt Sirdt 8




Ans-b

(37)3TTATST hl ATY hl AT ch AT 8 7
(a)SOee

(b)EST

(c)UTTh IR

(d)UehifeeeT

Ans-a

(38)ITeTeh chl deld TfaRterehdT &Y 3ahTS 2-
(a)dlee

(b)ThRTS

(c)TFRR

(d)3TH

Ans-d

(39)Tg HeT SI ATk -IBl &
(a)chaell

(b)TfOR

(c)dc
(d)chfeam

Ans-c

(40)RT< foredht gfAie 87
(a)RFSTrafdar

(b)TTTHT TRt ht ST
(c)TTTHT fehoTt <kt diegdT




(d)ehT Thet]

Ans-a

(41)AEfeifEa 7 @ fohg Uah bl 3opTs Aaadd &7
(a)TeTch 1T UreTere

(b)tI'IWI'JII?lT

(42)ﬁ1:|ﬁ|f@?rﬁ@aﬂ=rﬁ chl HI5ch A6l &7
(a)HIcx /Ths

(b)feh. 4./ geT

(c)HTe2/geT

(d)8.H./9hs

Ans-c
(43)=fafRea o € forg AfA o1 I AT A81 872
OUIG]

(b)d-dcd

(c)GiTa'fgl?r Ydd

(d)cdZoT

Ans-c

(44)3TAf &R T-Tcd hT HTSIch RIT & ?

(a)TehaT. /HTe=3

(b)TT./9HL.3




(c)fEIFﬂTIT

/ T3

(d)aﬁémqﬁé

Ans-d

(45)%TEl 3ol aht fchg ganls H ATYT Hehd & 2
(a)chfcad

(b)STeT

(c)chellxI
(d)afag

Ans-c

(46)fchtlaTe-geT Aeh &

(a)HHY

chl

(b)GTHTA <hl

(c)freld Sl ol
(d)faega a1fh

Ans-c

(47)' TR’ SRIT ATU Y SehTS 87

s TaTg (Atmospheric Pressure)h! SchTs T



(a)llc

(b)dIX

(c)S]et

(d)3THH

Ans-b

(49)0RTS _ hY ZahTS 2|
(a)hufae—g

(50)7tfcieh HATAT ‘TRehcd’ <hi §ehls T 872
(a)aTSR

(b)IRTS

(c)gt

(d)eFeT

Ans-c

(51)uframen & genTs 2|
(a)GﬁTr

(RER

(c)?_'{?flT

(d)ges

Ans-a



(52)3ftfdeh HTAT Taldl hl 3ehls oRIT 87
(a)dTe Uld chicad

(b)=q Ufd chfeed

(c)UTEehdl Uld chicad

(d)SIet Tfd chfed=

Ans-d

(53)fifaer 7T “STdh" Y 3eRTS R 872
(a)HeX Qhs

(b)Hiex Ufd dchs O

(c)HTeR Ufd Tehs aif

(d)dtex ufa Qehs

Ans-b

(54)3ifreR AT “Hach1g & hY dTehd” 6l 3ehTs T 872
(a)SIeT Ufd Hicx

(b)=geT Ufd HIeR

(¢c)ehfea T Ufd Hiex
(d)THR ufd diex

Ans-d

(55)t e AT “dATd" <hl §ehls HIT &7
(a)=Ie Hehe

(b)TRfeT

(c)UTEhel

(d)sIel




Ans-c
(56)tcIen HTT “TAT ATUTh” <hl Schls ST &7

(a)gc
(b)37

(c)S]et

(d)UTEhel

Ans-d

(57)¥t{cIeh AT fAELd TeTehdT <hl Sehls RIT 8?2
(a)cT

(b)3TH

(c)thiTS

(d)yEEg

Ans-d

(58)¥t{cIch AT, YachIY UdTg U-cd chl 3ohTs RIT &7
(a) T

(b)deR

(c)a=I

(d)&&T

Ans-d

(59)dTAT _<hl Uch 3ahls o




(d)[eTeh T &3

Ans-c

(60)sTeT HATEUT hl THIATS ShTs HIT 872
(a)=g-1/HIR

(b)=geH Hiex

(c)ge Hehs

(d)=g-T/HeR &

Ans-b




